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Section : General Knowledge

0.1  Who among the following participated in all the three Round Table Conferences?
Ans 1. BR Ambedkar

X 2. sardar Vallabhbhai Patel

% 3. Jawahar Lal Nehru

% 4. Mahatma Gandhi

Q.2 Which of the following statement(s) is/are correct regarding the distribution of the population of Hindus, Muslims and Buddhists

in India?

1. Hindus make up a majority of the population in most states, with their concentration ranging from 70-90% or above.
2. Muslims, the largest religious minority, are predominantly located in urban areas of Maharashtra and Gujarat.

3. Buddhists have significant populations in Jammu and Kashmir and the Deccan Plateau.
Ans «1.0nly 1
%x2.0nly2and 3
x3.1,2and 3

x4.0nly 3

Q.3 At which of the following venues was Badminton India Open 2024 held?
Ans 1. Mumbai
X 2. Patiala
+ 3. New Delhi
X4 Surat
0.4  Which of the following social reformers was NOT associated with the Arya Samaj?
Ans « 1. Swami Vivekananda
x 2. Dayanand Saraswati
x 3. Lala Hansraj
x 4. Lala Lajpat Rai
Q.5 Who thought that Queen Razia's rule went against the ideal social order created by God, in which women were supposed to be
subordinate to men?
Ans x 1. Hasan Nizami
% 2. Amir Khusrau
« 3. Minhaj-i-Siraj
x 4. 1bn Batutah
Q.6  InJune 2024, the European Commission (EC) removed which of the following countries from the list of countries eligible for its
€18 million conservation grant to be launched in East Africa as part of its NaturAfrica initiative?
Ans x 1. Zambia
« 2. Tanzania
x 3.Somalia

x 4.Kenya

Q.7  The Skill India Mission, as announced in Budget 2024-25, trained ______
Ans x1.21crore

x 2.24 crore

x 3. 11crore

4. 1.4 crore
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Q.8 Dr. Salim Ali, was the pre-eminent ornithologist of India, famously known as the

Ans « 1. Birdman of India
x 2. River man of India
% 3. Mountain man of India

x 4. Waterman of India

Q.9  Which of the following physiographic divisions of India has the maximum height?
Ans « 1. The Peninsular Plateau

x 2. The Coastal Plains

x 3. The Northern Plains

% 4. The Indian Desert

Q.10  Which of the following is NOT a migratory bird in India?
Ans x 1. Siberian Crane

x 2. Amur Falcon

« 3. Sparrow

% 4. Flamingo

Q.11 Mitra Mela, a secret society, was founded in 1899 by which of the following individuals?
Ans x 1. Bipin Chandra Pal and Lala Lajpat Rai

x 2. Lala Lajpat Rai and Mazzini Charitra

« 3. Vinayak Damodar Savarkar and Ganesh Damodar Savarkar

x 4. Bal Gangadhar Tilak and Lala Lajpat Rai

Q.12 Article 340 of the Constitution of India deals with the:
Ans x 1. formation of the Election Commission
X 2. creation of the Planning Commission
« 3. appointment of a Commission to investigate the conditions of backward classes

x 4. establishment of the Finance Commission

Q.13 Match the following minerals with the major producer states.

a)  Bauxite i)  Gujarat

b) Mica ii) Andhra Pradesh
c)  Petroleum iify Jharkhand

d) Coal iv) Odisha

Ans x 1.a)i, b)iv, c)iii, d) ii
x 2.a)iii, b) i, c)iv,d)ii
& 3.2) v, b)ii, c)i,d)iii
x 4.a) i, b)iv, c) ii, d) iii
Q.14 Which public sector bank launched the ‘bob Global Women NRE & NRO Savings Account’ on 7 March 2025, the first NRI account
designed exclusively for women?
Ans x 1. Punjab National Bank
x 2. Canara Bank
« 3. Bank of Baroda

x 4. State Bank of India

Q.15  Which of the following qualifications is INCORRECT for the appointment of a judge of the Supreme Court?
Ans x 1. He should have been a judge of a High Court for at least five years.

« 2. He should have been an advocate at a High Court for five years.

3. He should be a distinguished jurist in the opinion of the President.

X 4. He should be a citizen of India.

Q.16  Which of the following Articles of the Constitution provides for the establishment of High Courts?
Ans x 1. Article 224

x 2. Article 218

x 3. Article 222

« 4. Article 214
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Q.17  Which Indian State launched the initiative ‘Sankalp’ to combat drug trafficking and addiction?

Ans x 1. Haryana
x 2. Uttarakhand
x 3. Punjab

« 4. Himachal Pradesh

Q.18 As of 300ctober 2024, which of the following positions does Ms. Amina ] Mohammed hold within the United Nations?
Ans x 1. Director-General of the United Nations Industrial Development Organization

x 2. President of the United Nations General Assembly

« 3. Deputy Secretary-General of the United Nations and Chair of the United Nations Sustainable Development Group

x 4. Executive Director of the United Nations Environment Programme

Q.19  Which of the following privileges is NOT enjoyed by the President of India?
Ans « 1. The President can be a Chancellor of any state university.
x 2. He/She cannot be asked to be present in any court of law during his/her tenure.
x 3. The President is not answerable to any court of law.

x 4. A prior notice of two months is to be served before instituting a civil case against him/her.

0.20 Malik Kafur was the commander of
Ans x 1. lltutmish

« 2. Alauddin Khilji

x 3. Balban

x 4. Razia Sultana

Section : Logical Reasoning

0.21 Based on the English alphabetical order, three of the following four letter-cluster pairs are alike in a certain way and thus form a
group. Which letter-cluster pair DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Ans  x1.0QT-RU
x 2. JM-KN
% 3.PS-QT
4. CE-DF
Q.22 Refer to the following letter series and answer the question that follows. Counting to be done from left to right only.
(Left)y MJUNLGTEXSQOAIVWBCH D K (Right)

How many letters are there in the English alphabetical series between the letter which is third from the right end and the letter
which is fifth from the left end?

Ans x 1.0ne
« 2. Three
x 3. Four
x 4. Two

Q.23 If '+' means '+, '-' means 'x', 'x' means '-', and '+' means '+, then what will come in place of the question mark (?) in the following

equation?

324 +6x8-32+251=7?
Ans « 1.49

x2.12

x3.38

x4.27

Q.24 If 2 is added to each odd digit and 2 is subtracted from each even digit in the number 8613745, then what will be the sum of the
digits that are third from the left and second from the right?

Ans x 1 14
X2 16
311

x4 10
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Q.25 What should come in place of the question mark (?) in the given series?

211265398167 ?
Ans  x1.256

@ 2.266

% 3.260

x 4.265

Q.26  Aruna ranked 11th from the top and 19h from the bottom in her class. How many students are there in the class?
Ans x1.30

x2.28

v3.29

x4.31

Q.27 What should come in place of the question mark (?) in the given series?

31, 35, 43, 55,71, ?
Ans x1.93
@ 2.91
x3.90
x4.92

Q.28 Which of the following letter-clusters should replace # and % so that the pattern and relationship followed between the letter-

cluster pair on the left side of :: is the same as that on the right side of ::?

#:LPO:EIH: %
Ans « 1. #=MQP, % = DHG

x 2. #=MSR, % = DHG

x 3. #=MQO0, % = CGF

X 4. #=MQP, % = DGH

Q.29 Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(Note: Operations should be performed on the whole numbers, without breaking down the numbers into their constituent digits.
E.g. 13 - Operations on 13 such as adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and then

performing mathematical operations on 1 and 3 is not allowed.)

(105, 51, 193)
(109, 46, 192)

Ans x 1.(145, 69, 213)
% 2.(137,37,411)
x 3.(121,41,169)
« 4. (156, 26, 219)
0.30  Inacertain code language.
U @H means ‘U is son of H*
U % H means ‘U is daughter of H’
U & H means ‘U is mother of H'
U # H means ‘U is father of H’
If. N % M#R@L&K, then how is M related to K?
Ans x 1. Daughter
X 2. Mother
X3 son

« 4. Father
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Q.31 TG 19 is related to Ul 6 in a certain way. In the same way, KJ 30 is related to LL 17. To which of the given options is LC 10 related,

following the same logic?
Ans 1. ME-3
x 2. MF -7
x 3.NE -3
x 4.NF-5
Q.32 Seven boxes, J, K, L, M, N, O and T, are kept one over the other but not necessarily in the same order. Only two boxes are kept

below J. Only one box is kept above N. Only one box is kept between N and T. L is kept immediately above M. O is kept at some

place below K. How many boxes are kept between K and 0?
Ans x 1. Three

X 2. Four

x 3. Two

«4.0ne

0.33  Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(Note: Operations should be performed on the whole numbers, without breaking down the numbers into their constituent digits.
E.g. 13 - Operations on 13 such as adding/subtracting/multiplying to 13 can be performed. Breaking down 13 into 1 and 3 and then

performing mathematical operations on 1 and 3 is not allowed.)

(3, 31, 43)
(7, 36, 64)

Ans  x1.(19,47,223)
2. (11,41, 85)
% 3.(21,50,132)
x 4.(14,55,101)

Q.34 If °E’ stands for ‘+’, ‘F’ stands for *-’, ‘G’ stands for ‘+’ and ‘H’ stands for ‘x*, what will come in place of the question mark (?) in the

following equation?

24G4E12H1F18=7?
Ans x1-6

x2.-3

x3.6

w40

Q.35 Based on the English alphabetical order, three of the following four letter-clusters are alike in a certain way and thus form a
group. Which letter-cluster DOES NOT belong to that group?

(Note: The odd one out is not based on the number of consonants/vowels or their position in the letter-cluster.)
Ans x 1. UTP
x 2. FEA
3. VW0

x 4. ROM

0.36 Select the set that follows the same pattern as the one followed by the two sets given below. Both sets follow the same pattern.

SP - NK - IF

TQ - OL - JG
Ans  x1.ED-BX-VT

@ 2. FC - AX-VS

X 3.ED - AX - WT

x4.FC-BX-VS
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Q.37 Refer to the following number series and answer the question.

(Left) 45679812336549646548984654653 2 (Right)

How many such even digits are there each of the which is immediately preceded by a perfect square and immediately followed by
an odd digit?
(NOTE: 0 and 1 are also a perfect square.)

Ans x 1. Five
x 2. Four
% 3. Three

.,/445i>(

Q.38 Select the option figure that will replace the question mark (?) in the figure given below to complete the pattern.

Q.39 Refer to the given series and answer the question that follows. Counting to be done from left to right only. (All numbers are single
digit numbers only)
(Left)859633547865813565183789855 (Right)
How many such odd numbers are there each of which is immediately preceded by an odd number and also immediately followed by

an odd number?
Ans x 1. Seven
x 2. Five
« 3. Two
x 4. Four

Q.40 Refer to the given letter series and answer the question that follows. Counting to be done from left to right only.
(Left) VAINYANAVIHSLAGHTAKOPDRRAD U (Right)

If all the consonants are dropped from the series, which letter will be sixth from the right?
Ans x 1A
2.1
x3.0
x4.U

Section : General English and Comprehension

Q.41 Select the option that can be used as a one-word substitute for the given group of words.

To move quickly over the surface
Ans x 1. Gliding
« 2. Skim
x 3. Swoop

x 4. Curveting
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Q.42 Select the most appropriate meaning of the given idiom.

Lose your head
Ans x 1. To think logically in a tough situation
x 2. To physically lose something important
x 3. To become wiser after a difficult experience

« 4.To lose control and not act in a calm way

Q.43 Select the most appropriate option to fill in the blank.

He answered the questions as as possible.

Ans « 1. accurately
x 2. decently
x 3.inaptly

x 4. inappositely

0.44 Select the most appropriate ANTONYM of the given word.

Considerable
Ans « 1. Inadequate
x 2. Usual
x 3. Common

x 4. Inattentive

Q.45 Select the most appropriate option to fill in the blank.

The silence in the courtroom made everyone nervous.
Ans x 1.smooth

x 2.slow

« 3. deafening

x 4. deaf

Comprehension:

Read the given passage carefully and answer the questions that follow.

Technology has significantly transformed how we live, study, and communicate in the modern world. Students today depend heavily on the
internet for accessing information, attending online classes, and connecting with peers through social media platforms. This digital revolution
has undoubtedly made education more flexible and accessible, especially for learners in remote areas. However, it also introduces several
challenges. Prolonged screen time can lead to physical health issues like eye strain and disrupted sleep, while also reducing opportunities for in-
person social interaction. Moreover, not all students have equal access to digital devices and stable internet connections, creating a widening gap
between privileged and underprivileged learners. Despite these concerns, the educational benefits of technology are immense. It supports self-
paced learning, encourages curiosity, and allows teachers to incorporate interactive tools that enhance understanding. Striking the right balance

between digital resources and traditional methods is essential to ensure a holistic and inclusive educational experience.
SubQuestion No : 46
Q.46 What is the most appropriate title for this passage?
Ans x 1. The History of Technology
% 2. How to Use Social Media Safely
x 3. Health Problems Due to Technology

« 4. Technology’s Role in Education
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Technology has significantly transformed how we live, study, and communicate in the modern world. Students today depend heavily on the
internet for accessing information, attending online classes, and connecting with peers through social media platforms. This digital revolution
has undoubtedly made education more flexible and accessible, especially for learners in remote areas. However, it also introduces several
challenges. Prolonged screen time can lead to physical health issues like eye strain and disrupted sleep, while also reducing opportunities for in-
person social interaction. Moreover, not all students have equal access to digital devices and stable internet connections, creating a widening gap
between privileged and underprivileged learners. Despite these concerns, the educational benefits of technology are immense. It supports self-
paced learning, encourages curiosity, and allows teachers to incorporate interactive tools that enhance understanding. Striking the right balance
between digital resources and traditional methods is essential to ensure a holistic and inclusive educational experience.
SubQuestion No : 47
Q.47 Select the most appropriate ANTONYM of the word 'accessible’ as used in the passage.
Ans x 1. Easy
x 2. Available
x 3. Open

« 4. Limited

Comprehension:

Read the given passage carefully and answer the questions that follow.

Technology has significantly transformed how we live, study, and communicate in the modern world. Students today depend heavily on the
internet for accessing information, attending online classes, and connecting with peers through social media platforms. This digital revolution
has undoubtedly made education more flexible and accessible, especially for learners in remote areas. However, it also introduces several
challenges. Prolonged screen time can lead to physical health issues like eye strain and disrupted sleep, while also reducing opportunities for in-
person social interaction. Moreover, not all students have equal access to digital devices and stable internet connections, creating a widening gap
between privileged and underprivileged learners. Despite these concerns, the educational benefits of technology are immense. It supports self-
paced learning, encourages curiosity, and allows teachers to incorporate interactive tools that enhance understanding. Striking the right balance
between digital resources and traditional methods is essential to ensure a holistic and inclusive educational experience.
SubQuestion No : 48
0.48 Which sentence best summarises the passage?
Ans x 1. Technology completely replaces traditional education.
% 2. Technology only benefits privileged students.
« 3. Technology transforms education while presenting both advantages and challenges.

x 4. Technology harms students’ health but offers some benefits.

Comprehension:

Read the given passage carefully and answer the questions that follow.

Technology has significantly transformed how we live, study, and communicate in the modern world. Students today depend heavily on the
internet for accessing information, attending online classes, and connecting with peers through social media platforms. This digital revolution
has undoubtedly made education more flexible and accessible, especially for learners in remote areas. However, it also introduces several
challenges. Prolonged screen time can lead to physical health issues like eye strain and disrupted sleep, while also reducing opportunities for in-
person social interaction. Moreover, not all students have equal access to digital devices and stable internet connections, creating a widening gap
between privileged and underprivileged learners. Despite these concerns, the educational benefits of technology are immense. It supports self-
paced learning, encourages curiosity, and allows teachers to incorporate interactive tools that enhance understanding. Striking the right balance
between digital resources and traditional methods is essential to ensure a holistic and inclusive educational experience.
SubQuestion No : 49
Q.49 Which of the following is a ‘text to world' connection from the passage?
Ans « 1. Many students around the world use technology to learn.
% 2. The passage is about one school’s computer lab.
x 3. The author prefers traditional learning methods.

x 4. Technology is only important in science classes.
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Comprehension:

Read the given passage carefully and answer the questions that follow.

Technology has significantly transformed how we live, study, and communicate in the modern world. Students today depend heavily on the
internet for accessing information, attending online classes, and connecting with peers through social media platforms. This digital revolution
has undoubtedly made education more flexible and accessible, especially for learners in remote areas. However, it also introduces several
challenges. Prolonged screen time can lead to physical health issues like eye strain and disrupted sleep, while also reducing opportunities for in-
person social interaction. Moreover, not all students have equal access to digital devices and stable internet connections, creating a widening gap
between privileged and underprivileged learners. Despite these concerns, the educational benefits of technology are immense. It supports self-
paced learning, encourages curiosity, and allows teachers to incorporate interactive tools that enhance understanding. Striking the right balance
between digital resources and traditional methods is essential to ensure a holistic and inclusive educational experience.
SubQuestion No : 50
0.50 According to the passage, what is one challenge of technology in education?
Ans x 1. It reduces access to information.
x 2. It eliminates teachers’roles.
« 3. It causes excessive screen time.

x 4. It makes lessons boring.

Section : General Hindi and Comprehension

Q.51 fHfaf@d are $1 fRe 70 el & § 3ugm PR & g1 gof S
€3 9g Ten &R $IE gIHaR & & Srar

Ans ¢ 1R
x2.ﬁ
x3.®

x4.ﬁ

Q.52 '3 gIe A qeraR BT T 3 § -
Ans  x 1. BIfRRIR §91

x 2. AN BIAT

« 3. @A A

X 4. 7T ST

0.53 fEfaf@d Jee ¥ & de &1 e o< SiF-31 82
Ans x 1. 39q
X2
X 3.901
v 4.9f®
0.54 HiA F W Fear geraR o1 I& 31 om-
Ans 1. TRA S f&q Fee
x 2. Gt 7T
x 3. deq &Y g1
x 4. I & TR

Q.55 '®YUST' HI qATIar<l g &1 -
Ans  x1.9g

@ 2. 3R

x 3. 3fcfal

x 4.emm
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Comprehension:
f&U 31U STaier & YR uR Agifed ge & IR dfS-
IR g Ao & Wb o P 9T 21 S Y137 & Welk b A1 avg BT Wiyt R IRgd fsan s 81 8% Afh-f, or- o, aRd-fom, e
317 off el STTaT 81 3@ H oI T8 1 Bl & SN e H YW Bl &1 3@ H B8 I gU A=Al gk [av-av, Afth, /T, Hel Ud 299 &l ABR §
7 53 A%E IR (AT ST & 6 UT5e & AT T v IR 81 9p | IR H Afth & WY P JTgl Y@M Bl 39RT ST &, 37T ILT37 Bl IRGd PR BT
TN Brell &1 auiTcHesdT YT 31 3MER Bl &1 398 RIATeresdT IR 3919 aa &1 ST &1 Y@ a2nefardt 39T &1 97T 1 ATl 3R IR IR 3178 o
&1 ST 81 BIe-81 ar 3R a1 Jarg Y@t $ [FAvdr &1 g wendl (Y@ S 387), TP1erEE I (RS B W5H), AR (B aaap),
rAgare G2 (Teett aul) 3N FHE YRS R &
SubQuestion No : 56

0.56 Y&EIfAF &) a9 ) fadyar Py A q a—

Ans x 1. 3ffeet Aty
x 2. faeTe wrer
* 3. Do ATl
@ 4. 8181 aI®

Comprehension:
18U 71T STErier & 3MeR W Agifed g4 & IR fe-
IR g R & Wb o P 9T 81 S Y137 P Welk Ath A1 avg BT W1yl 7 IRqd b1 Sl 81 8% Afth-R, -, aRka-fm, i
3RS off T SITaT &1 ¥R F 2Ieg 981 BT Bl & 31 FIvebett § Y18 vl 8131 § 58 YA gU o<l g favd-avg, feh, T, €21 Ud 290 & AIBR §Y
33 A8 U a1 ST & 5 Iaes & A1 Y g RIfAd & W | @fad ¥ 21fts & W%y 6 argl Y@137 Bl 397 ST 8, 376! JLT37 B IRgd PBRA BT
AT B & | qufATcas T YRR o1 3eR Al &1 39 fRATEedT W 9 aa G Sirn 81 v@nfas Jenefardt 391 81 T 1 el 3R IRl R AAS I
&1 ST &1 BIe-8ie ared 3R arifae dare S & 3919 &1 39 Iaandl (@ ard 338T), Hap1eria I (RQATE 1 ASH), IHARIAV (e aasp),
g G (Tged an) e HHE YRS &
SubQuestion No : 57
0.57 ¥ Y@y &1 vafy 78 a—
Ans  x 1.9Rd R
;(2.?30_'6[
« 3. JEEY
x 4. b 3

Comprehension:
f&U MU STErier 3 3MeR W FHifed walf & I Jfe-
Y@ oI AP & Wb G BT T &1 K Y13 F WeR Afh A1 avg BT Haqui 7 IR a1 SiraT &1 8% -, oss- o, aika- R, egiee
3RS off ST SiTaT &1 ¥R ¥ 2rg a8 1 vl & 51 feeat § Y@ el 131 ¥ 3% g4 §U ol g favd-avg, Afth, 21, e vd 29F 31 WHR w
7 33 A%E IR A1 ST & 6 UTod & A1 T v [ &1 9 | 3@ H Afth & 39wy P dTgl Y@137 Bl 3T T &, 37T JLT37 Bl IRgd PR BT
TR Bl 2| ufATeTdar YT & e Al &1 39H RErded R A9 g6 i S &1 Y@ genefardt I &1 reT Bt Westdr 3R WA R 3% gt
&1 ST &1 Bre-8ie are 3R Warnfae dare @i 1 3w &1 39 gl (@ did 338T), Harerds I (RLAE B TgSH), IFARTA (R aasp),
mgers g (Tgeh auf) 3nfy ygE YarREER
SubQuestion No : 58
0.58 WINIfAS & facd o< Py 7 J 2--
Ans  x 1. {q@UIfde
x 2. ddfde
« 3. 3RAIfds

x 4. ITpfde
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Comprehension:

f&U 10 STaier & YR R Agifed ge & IR dfS-

IR U R & Wb o P 9T 21 S Y137 & Welk b A1 avg BT Wiyt R IRgd fsan s &1 8% Afh-f, or- o, aRd-fom, e
317 off e STTaT 81 @A H 2reg F8 1 Bl & SN A 5 W Bl 8| 3@ H B8 I §U A=Al gk [av-av, Afth, /T, Hel Ud 299 Bl ABR ¥
7 53 A%E IR (AT ST & 6 UT5e & AT T v IR 81 9p | IR H Afth & WY P JTgl Y@M Bl 39RT ST &, 37T ILT37 Bl IRGd PR BT
TR Bl 2| AT aT YR 1 e el &1 39H AT R A 9o G Sirdr &1 Yo genefardt 39 &1 e 1 Westdn 3R IRAd R 3P o
&1 ST &1 BIe-8ie ey 3R WTfae darg @1 & [391war &1 33 Tanel (@ ard 338T), H1eria I (RQAE 1 ASH), IFARTA (e aasp),

g g (Tged au) e T RS &

SubQuestion No : 59
0.59 'IRAEH YsF' & ad g T A §—
Ans  x 1.3HgE A
* 2. TR0
« 3. TPIeMEE T
x 4. %dg Famef

Comprehension:
f&U 70 TTerier & 3R R Fgifed g4l & 3T e
IR g R & Wb I P 9T 81 S Y137 P Welk th A1 avg BT W1yl R IRqd b1 Sl 81 8% Afh-R, or- R, aRka-fm, =i
3RS off T SITaT &1 ¥R H 2Ieg 98] BT Bl & 51l FRIvebett § Y18 vl 8131 § 58 YA §U o<l g\ favd-avg, feh, T, €1 Ud 290 & ABR §Y
33 A8 U a1 ST & 5 Iaes & A1 Y g RIfAd & W | @fad ¥ 21fts & W%y 6 argl Y@137 Bl 397 ST 8, 376! JLT37 B IRgd PBRA BT
ST BIell & | aofTcHeb dr YIS &1 3HTeR el 81 39K fIsTeHe T UR A s f&am i1 €1 Y@= erefardt Ie=1 &1 1T ol |estl 3R IRl R A Jef
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0.61  Which of the following statements is true when sorting data in MS Excel?
Ans x 1. When sorting data, MS Excel automatically ignores blank cells in the dataset.
% 2. MS Excel allows users to sort data in ascending or descending order, but they cannot sort multiple columns simultaneously.
x 3. Data sorting in MS Excel only works with numerical values and not with text data.
« 4. Sorting data in MS Excel can be done by selecting one column, but if a user wants to sort by multiple criteria, they must use the Custom
Sort option.
Q.62 What is the primary distinguishing feature of a polymorphic virus compared to other types of viruses?
Ans x 1. It only infects executable files.
« 2. It encrypts itself with different keys each time it replicates.
x 3. It remains dormant until a specific condition is met.
x 4. It spreads through email attachments.

0.63 ‘What are the four main parts of an email structure?

Ans K 1. The headers, the subject line, the body and the image
K 2. The headers, the subject line, the link and the signature
« 3. The headers, the subject line, the body and the signature
K 4. The headers, the reference, the body and the signature
Q.64 In MS Word, which of the following steps provides a detailed print preview that allows users to adjust settings such as margins,
page orientation, and paper size before printing the document?
Ans x 1. Go to the View tab, select Print Layout, and then click on Print Preview.
% 2. Go to the File tab, select Print, and then click on Page Setup at the bottom of the Print Preview pane.
x 3. Right-click on the document, select Print, and then choose Print Preview from the context menu.

« 4. Go to the File tab, select Print, and then adjust settings directly in the Print Preview pane.
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Q.65 Which tab in the tollbar allows you to insert images into your Microsoft PowerPoint presentation?

Ans x 1.Slide Show

X 2. Home

x 3. Design

« 4. Insert
0.66 Which of the following function keys is used for running the slide show of a presentation in MS PowerPoint?
Ans <1

X2 F1

3 F5

x4 F7
Q.67 When starting MS PowerPoint, which of the following options is the correct way to create a new blank presentation?
Ans x 1. Right-click on the desktop and choose New > PowerPoint Presentation.

% 2. Open the View tab and select Blank Presentation.

« 3. Select File > New > Blank Presentation and click Create.

x 4. Click on the Insert tab and choose Blank Slide.

Q.68 Which of the following is the default measurement unit for page margins in MS-Word?
Ans « 1. Inches

x 2. Millimetres

x 3. Centimetres

x 4. Points

0.69 What maintains the system resources and gives the path for application software to run?
Ans x 1. Anti-virus Software

% 2. Task Manager

x 3. System Notification

« 4. System Software

Q.70 The shortcut keys to align the text Left, Right, Center and Justify text in MS Word 2019 are:

Ans x 1. Left-align text - Press Shift + L; Right-align text - Press Shift + R; Center text - Shift + E; Justify text - Shift + )
« 2. Left-align text - Press Ctrl + L; Right-align text - Press Ctrl + R; Center text - Ctrl + E; Justify text - Ctrl +)
x 3. Left-align text — Press Alt + L; Right-align text — Press Alt + R; Center text — Alt + E; Justify text — Alt + )

x 4. Left-align text - Press Ins + L; Right-align text - Press Ins + R; Center text - Ins + E; Justify text — Ins + )

Q.71 Which of the following statements about input and output devices is true?
Ans x 1. A modem is solely an output device.

% 2. A touchscreen is only an input device.

x 3. A barcode reader is an output device, and a plotter is an input device.

« 4. A microphone is an input device, and a projector is an output device.

Q.72 Which type of email protocol allows a user to retrieve their email from a mail server?
Ans % 1. STP (Spanning Tree Protocol)
« 2. IMAP (Internet Message Access Protocol)
x 3. EmailProtocol
X 4. FTP (File Transfer Protocol)
Q.73 If a user has spelt a word correctly in the way they intended and MS Word is still flagging words as misspelled, what should the
user do?
Ans x 1. Select 'Add to Reservoir'
x 2. Select 'Add to Book'
« 3. Select 'Add to Dictionary'

x 4. Select 'Add to Repository'
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Q.74 What is the procedure for printing row or column headers on each page in MS Excel 2021?

Ans x 1. View > Repeat Rows/Columns
x 2. File > Print > Repeating Labels
x 3. Page Layout > Print Area > Set Repeating Rows/Columns

« 4. Page Layout > Page Setup > Print Titles > Rows/Columns to repeat

Q.75 What is the purpose of choosing a time window around the specified date in an email?
Ans x 1. To filter out the unwanted emails

% 2. To categorise the emails by sender

« 3. To group the emails received within a specific timeframe

x 4. To prioritise the emails based on urgency

Q.76 What is a common impact of a computer virus on a system?
Ans x 1. Increased security

x 2. Enhanced internet connectivity

« 3. Unauthorised data access and corruption

% 4. Improved system performance

Q.77 Which of the following are the basic parameters of cyber security?
Ans x 1. Communication, intention and availability

« 2. Confidentiality, integrity and availability

x 3. Confidentiality, integration and authenticity

x 4. Collaboration, integrity and availability

0.78 The file extension used to save documents in MS Excel 2010is .
Ans x 1..pptx

x 2..docx

x 3..bmp

o 4. Xlsx

Q.79 What does the 'CC' field stand for and what is its function?
Ans x 1.'Contact Copy' is used to add email addresses to the contact list.
x 2.'Closed Copy' is used to prevent the email from being forwarded.
« 3. Carbon Copy is used to send a copy of the email to additional recipients visible to all.

x 4. 'Confidential Copy' is used to encrypt the email content.

Q.80 What is the primary purpose of a URL (Uniform Resource Locator) on the web?
Ans « 1. To specify the address of a resource on the internet
x 2. To identify the type of website
x 3. To encrypt web traffic
x 4. 7o locate the user's position
Q.81 10% of the voters in an election did not cast their votes. In this election, there were only two candidates and all the votes cast

were valid. The winner, by obtaining 60% of the casted votes, defeated his contestant by 108 votes. What was the total number of

votes obtained by the winner?
Ans  x1.234
x2.432
»3.324

x 4.554

Q.82 A student has to obtain 33% of the total marks to pass. He got 92 marks but failed by 40 marks. The maximum marks are .
Ans x1.300

@ 2.400

% 3.600

x 4.500
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Q.83 The average of the first 24 natural numbers is:

Ans x1.12
«2.12.5
x3.13.5

x4.13

Q.84 The ratio of expenditure to savings of a person is 7 : 3. If the income increases by 25% and the saving increases by 8%, then by

how much percentage (rounded off to 1 decimal place) does his expenditure increase?
Ans «1.323%

x2.31.5%

x3.332%

x 4.351%
Q.85 Find the value of y,satisfying 30 x 8 x 765 + V2025 = y + 540
Ans x 1.3541
x2.3530
x 3.3531
»4.3540
Q.86 An item is marked 175% higher than its cost price. Even after allowing some discount, the shopkeeper earned 32% profit. Find the
discount percentage allowed by the shopkeeper.
Ans x 1.55%
v 2.52%
x 3.49%
x 4.54%
0.87 Smplify the given expression.

075 x 5 4 1 f{l+33}

: 37 9% 5
Ans x1.135

v2.3

x3.0

x4.0.49

0.88 Evaluate: 1850 - [450 - {210 - (90 - 80 - 9)}]
Ans x 1.1469
«2.1609
x 3.1684
x 4.1539
Q.89 I am three times as old as my son. Four years later, | shall be two and a half times as old as my son. How old am | and how old is my
son?
Ans % 1.40 years and 10 years
x 2.45 years and 15 years
« 3.36 years and 12 years
x 4.50 years and 20 years
Q.90 A boat can move at a speed of 16 km/hr in still water. The speed of the stream is 4 km/hr. How much time (in minutes) will the
boat take in going 8 km downstream and coming back to the same place?
Ans x1.72
x 2.68
x3.60

v 4. 64
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Q.91 By selling an article for ¥19, a dealer makes a profit of 10%. By how much should he increase his selling price (in ¥, rounded off to

two decimal places) so as to make a profit of 30%?
Ans  x1.545
2.345
x3.4.45
x 4.6.45
Q.92 Mohammad bought 51 books for 31,135 from one shop and 49 books for ¥910 from another. What is the average price (in ¥) he paid
per book ?
Ans  x1.2025
v 2.20.45
x 3.20.65
x4.20.95
Q.93 7 years ago, the average age of A, B, and C was 28 years. 7 years from now, the average age of A and C will be 18 years. What will
be the age (in years) of B, 7 years from now?
Ans x1.89
x2.87
% 3.91
»4.90
Q.94 8 hours 30 minutes is the time taken by an athlete to walk a distance and ride back on a bicycle to the starting place. If 9 hours
45 minutes is the time taken by him to walk in both ways, then find the time taken by him to ride in both ways.
Ans x 1.7 hours 30 minutes
« 2.7 hours 15 minutes
% 3.7 hours 50 minutes
x 4.7 hours 45 minutes

A dealer buys two articles X and Y for X500 each. He marks each of them at the same price. He sells X by giving two successive discounts of 25% and 24% and still earns 438 as profit
If he sells Y at a single discount of 43 %, then what is the profit percentage on Y?

x 1. 86%

> > (S el

w

X2 g79%

X 3. 86.6%

v 4 87.6%

Q.96 Lewis, Michael, and Charles can finish a certain piece of work in 16, 36, and 24 days, respectively. All three of them started the

work together. Lewis left the work after 2 days and Michael left just 4 days before the work was completed. Find the total number

of days taken for the work to be completed.
Ans 1142
x2.83
x3.19.4
x4.112
Q.97 The cost of the watch is increased by 20% on the first day and decreased by 10% on the second day. What is the percentage
increase/decrease?
Ans x 1.10% decrease
x 2.10% increase
« 3.8% increase

x 4. 8% decrease
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Q.98 One pipe can fill a tank three times as fast as another pipe. If together the two pipes can fill the tank in 24 minutes, then the

Ans

Q.99

Ans

slower pipe alone will be able to fill the tank in:
§ 1
% 113~ minutes
3
X 2.45 minutes
§ 1
x3 125 minutes

+ 4. 96 minutes

. . . . 216 %
Simplify the given expression. (ﬁ)
24

84

26

82

x 1.

x2.

28

x3. 28
80

4,25
81

Q.100 A retailer buys an electronic item for ¥180. His overhead expenses are ¥20. He sells the electronic item for ¥360 and makes x%

profit. The value of x is:
x 1.60

x2.70

x3.100

v4.80
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